Exam. Code: 0006
Sub. Code: 0517
2071
B.A./B.Sc.(General)-Sixth Semester
Economics
Paper: Indian Economy
(In all mediums)

Time allowed: 3 Hours : Max. Marks: 90

NOTE: Attempt five questions in all, including Question No. I which is compulsory and

II.

III.

Iv.

VI

VIL

VIIL

- IX.

selecting one question from each Unit.

X-X-X

Answer any nine of the following in about 25-30 words each:-

a) What is meant by green revolution?

b) Name two states benefitted from green revolution in India.

c) What is meant by subsistence cultivation?

d) Name two central government public sector undertakings.

e) Name two largest private sector banks in India.

f) Mixed economic system proposed in which industrial policy resolution.

g) Name four major exports from India.

h) Name four large scale industries in India.

i) Name the two largest multinational corporations in India.

j) Name two indexes to measure inflation in India.

k) What is the major objective and first five year plan?

1) Name the new organization came into existence in the place of planning
commission in India. (9x2)

UNIT -1
What are the causes of low productivity in Indian agriculture, give your argument
that increase in productivity is enough to enhance farmers income? (13+5)

Explain various components of land reforms in India. Why land reforms failed in
India? _ . (13+5)
UNIT - II '

Explain the main features of 1956 industrial policy resolution in India. (18)
What are the advantages and disad\}antages of small scale industries in India? (18)

UNIT - 111

Explain the role of multinational corporations in India. Give your argument that
the existence of multinational corporations lead to economic imperialism in India.
(13+5)
EXplain the division of financial resources between centre and states in India, what
are the reasons for dispute between centre and states in sharing financial resources

in India? (10+8)
| UNIT -1V

Explain the objectives of five year plans in India. Give your argument are the plans

achieved its desired objectives. ' _ (10+8)

What are the causes of poverty in India? Inspite of number of measures taken by
the government, why poverty is still existing? (13+5)

X-X-X
-(Hindi and Punjabi versions enclosed)
: P.T.O.
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